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INTERMEDIATE CERTIFIGATE EXAMINATION, 1967

MATHEMATICS (Algebra)

MONDAY, 12th JUNE — Afternoon, 2.30 to 5

ALL questions to be answered

Mathematical Tebles may be obtained from the Superintendent

1e (a) Find the values of 2 which satisfy the following:
(1) D ==m = u$

(11) 2 = b,
(111) 3 — 2z = 2 — 32,

1

(b) A boy has @« pence and his sister has Y pence. Express the following statement
in algebraic form:
When his sister is given an extra penny, the boy has then twice as much as his
slster.
Write down & similar statement which would be expressed algebralcally in the
form 3y = & + 2.
(28 marks)

25 (a) Pactorise:
(1) 32 — 8z — 3,
(11) o® — b2 + 20 — 2D,
(b) Show that 3 is the remainder when 22 +22° — 2 + 1 is divided by © — 1.

Hence, or otherwise, find all the factors of x® +22° —2 — 2,
(28 marks)

3. (a) Find, correct to one place of decimals the values of ® which satisfy each of' the
followlng egquations:

(1) 2 + 2 =3

il

0,
(A1) (e +1)2 + (@ +1) =3 =0,

t? = + 3= + e
(b) If 1 + t, show that t* = 1 + 2t (R mavies)

L, Draw the graph of ’ — 52 — 2(=1) for values of & from & = — 3 to & = 3,
Find from your graph, as sccurately as you can,

(1) the value of Y when & = O<5 and the other values of ¥ for which y has thie
same value,
(ii) the square root of 5.
(28 marks)

S Two cars A and B are given equal amounts of the same petrol. For each gallon of petrol
car B travele 4 miles further than car A, When both cars have travelled 224 miles,
car B has 1 gallon of petrol more than car A, Find the number of miles that each ear
travels per gallon of petrol.

(28 marks)

He (a) If m and n are positive whole numbers and m is greater than n, prove that
a™ n
a®

(b) Write down the values of
®
8 , a2 -
57 BT , logau, log,2.

Given that 1ogéx = Q+12, find the value of 10g5w.

il
= O s Where a is not zero.

(e) If ab = x?, show that log x + 1ogbw = 2 log # log, .
(30 marks)

y i (a) Pind the values of a, b, ¢ for which
alz + 1)(z + 2) +b(z +1) +c =2° —1
for all values of &,

Ir = 5

h N
show that T NB — 1.

(30 marks)



